OZRZBREHITIRDL (k2 6 4F 5 H 47)

XA R | XS ook N R F StiesE (1)
5H7H O [RE M RIAAR 8,164
5HOH | Zofth |#ERAHRM 3,456
520 H N %:Efﬁﬁ R U R (R T B[R] B 2 B RV RE A8 6.000
5/ 26 H . éi\’% VeI - M P b XK PR AR bR P A ot SR S T 2,000
5H27H . 2@%22%/% & BIRRTTHRESRRES L OB RS 8,000
sA27A | oM ;@Eﬁ%/\ siigﬁmaﬁéﬁﬁékmﬁﬁ&@ 916
5H28H ot |ZEH LT 2 6 EEEF S BRI asE 3,000
5H29H 2 | EMTEBCER T2 6 FEET AR 3,000
5H30H BEE Ak 2 6 R ARk RALAR L 3,135

ULk
=1 36,971




O¥R% 2 6 45 H4y#F

X 4 L (1) % (fF)
SRR 0 0
A% 0 0
B = 3,135 1
= & 22,000 5
R /X 0 0
= O 11,836 3
3 36,971 9
O%  # (P2 6 4E)
X 4 LA (1) % ()
SRR 0 0
RO 0 0
B = 9,319 3
= ' 23,000 6
LA 3,000 1
= O 11,836 3
3 47,155 13

KA ETR S 402,845




